MODEL QUESTION 18

1. Fill in the blanks with the words from the box. Make any change if necessary.

Because | an era among | with knowledge | the Almost importance
English is (a) international language. As a result, (b) necessity of English has
increased. Different countries have to keep mutual communication (c) them. The
(d) of learning English is very great. (e) it helps us develop a good relationship
(f) other nations. In this modern (g) of communication it is not possible to advance
without it. English has become the language of (h) whole world. (i) all books in

Science and Technology have been written or translated into English. One can’t think of higher studies
without the (j) of English.

a
b
C

o ||

d
2. Fill in the blanks with suitable words.

Teachers and students of English often come (a) — many new words. Looking at the spelling of new word
(b) — not always help to pronounce (c) — correctly. A single letter in English can represent several (d) —
sounds. For example, (e) — letter 'a' sounds different (f) — sad and 'car'. Again take the (g) — cat, kite and
chemistry. The initial sound for each of (h) — words is the same, 'k', although they are spelled (i) — three
different letters c, k and ch. What can teachers or students (j) — do when they do not know how to
pronounce or say a new word.

a e i

b f j

c g

d h
3. Make five sentences using parts of sentences from each column of the table below.

A B C

Alad replied to a famous teacher

He expressed | that he would answer if he could tell where He is not

The learned man went his desire to acquire knowledge

The sage wanted him where Allah was

The boy asked to find out the ability of the boy
4. Complete the following text with right form of the verbs given in the box.

work contribute become keep play | prove receive | confine have | be
Today woman are (a) important role in all spheres of life. They are no longer (b) within the

four walls of their parent’s or there husband’s house. They have come out of their kitchens and (c)

hand in hand with man in all the development programmers of the government. By (d) higher
education they are (e) pilots, doctors, engineers, teachers, administrates etc. Their worth (f)

already (g) by them. They are (h) much to the true development of the country (i)

never possible (j) half of the population idle at time.
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5. Rewrite the following passage in the reported speech.
“Give me a few grains of corn. | am dying of hunger,” said the Grasshopper. “But what did you do in the

summer? Didn’t you store up any corn?” asked the Ant.

6. Change the sentences according to directions.
a. A cook once roasted a duck for his master (Use passive voice).

b. The roast looked so delicious that the cook couldn't check his temptation to eat up one of the
drumsticks. (Make simple sentence).

c. When his master sat down to eat, he quickly noticed the missing leg (compound sentence).
d. The cook told him that the duck had one leg only (Make negative sentence).

e. The cook insisted that this duck had only one leg (Make simple sentence).

f. The master was annoyed with him (Use active voice).

g. He threatened to fire the cook from his job (Make complex sentence).

h. Then the cook saw some -ducks which were resting outside in the courtyard (Make simple).

i. He drew the attention of his master to show him this (Make compound sentence).

j. It put down its leg and ran off (Make simple sentence).

o|oa |=h|D |Qa|0 |o|L

j
7. Complete the following sentences.

(a) Water is so vital of all natural resources that

(b) It is water which

(c) Our agriculture which is the main source of our economy

(d) Though Bangladesh is blessed with rivers,
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(e) If the rainfallis timely,

8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.
Oursisan (a) __ (developed)__ country. Her economy (b) __ (main) ___ depends on agriculture. So, (c)____

(major) ____ of the people of our country are farmers. But their (d) ___ (economy) ___ condition is not good
at all. They should be make (e)___ (economical) ___ solvent. Though they are the real (f)___ (produce)___
of corps. They are not (g)___ (due)___ paid the reasonable price. A syndicate of middlemen is responsible
forthe (h)__ (manipulate)___ of the price. They are so (i)___ (unite)___and (j)___ (power)__ that farmers
cannot stand against them.

Qo |lo|lw

ol [~ |

9. Make tag questions of these statements.

: Success cannot be achieved without efforts, (a) ?

: In fact, everything glorious is achieved through much effort, (b) ?

: That’s right. We could not achieve our independence if we did not struggle forit, (c)___ ?
: Surely not. Every one of us should try hard to gain success, (d) ?

: Of course. It won’t descend on us automatically, (e) ?

10. Fill in the blanks with suitable linking words from the list.
Mr. X is a miser (a) he earns a lot of money. He seldom buys new cloths. (b) , he bargains

with the shopkeepers to save money. (c) having many friends, he always avoids entertaining them.
(d) he and his wife put on shabby dresses. (e) , he possesses a strange personality.

a C e
b d

11. Rewrite the following passage and punctuate where necessary.
rina have you done your english lesson today asked the teacher yes sir she replied but i have not understood

one grammatical point would you please explain to me the teacher assured her saying ill help you to
understand the point
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